ERRAROBEERT —I N—XBISH—F 202557838 () 4Ofatg2H

"75%2% _ ‘ =] - ‘ [S67E63RS) 15:05 | S'— bk 12000 —

[AE&] 135 : 2,500,000 .~ 27& : 1,000,000 37 : 625,000  43& : 375,000 . 57& : 250,000/
AR e, [ %1 %2 &l 2R 38
FOINNS— 42 /F ) 4 Al
B VNRS M i 3 4 | 2as/6/6 e
] /%40 USA) 0-0-0-0 3 ¥ 1500 B
T @] erozeys 0-0-1-0 BUE- | TA7yTTEAC
BRI TN T X—H— (UK 0-0-0-0 ' = BR00  FIaas
SiE#:— vanNvay
= (IR 42 e PERIR 2 )
SAXUYY B (54.0) (18 Al o B 5
R] RZAATI—Ro A 0-0-0-0 ¥ 1000 THE
A 2| (3] Ly R7F=on 0-0-0-1 ARl S{5vIFEa—
8] I-ILR7ZUa—)L 0-0-0-0 70-U=I7-A 1:03.7(1.7) 77 8.7
2024 4LimEA — 9 Le—IL 1% 770.05H - 555‘% (5‘;%_?3@,;72
p 2 R JISE— 3 618
AATCYR BT e 3 3 |2as/6/s ot
R] T2XF—X0O5" « (USA) 0-0-0-0 ¥ 1000 FHE
N 3| [B] LyvaT=uy 0-0-10 shnE ) 47T
A 5= 7= 1:02.9(0- 22 39.2
B8R To¥vEnY o0 HEIESE (54.0) 488 —
SIEf -  PL—ILERTZ
N — 2/ MIEA 4 Y
NAE—=TTA2R 29 (54.0) (e 345500 8™
R] N=—E 21— USA) 0-0-0-0 " ¥ 1000 B
4 EANE NECPES P 0-0-1-0 wosn 54571~
B3R I1IATv— 0-0-0-0 WSS 1:03,8(1.5) 5-5 38.0
WUEIBE LT 7> N—t—IL 1 # 770.05M - g;'gfgiﬁ (S‘Q",lg‘%,?ﬁyp
aFIb 2 /R SRR 112025/6/27 ;i 2 {202 18
aFvY ) e poiEs ) A‘s?‘ g 6 Hg‘m 3 A‘ 025/5/9 A8t
R] A=—E 31— USA) 0-0-0-0 300 78 g 1200 8B
515 8] £5e-vaY 0110 Wi 8= 2X5FEa—
84 e/ 0704 0-0-0-0 RP5 1:23.300.8)  1-1-1-2 38.5 | 1:16.9(0.7) 1-1-1 40.1
ZOZAE?ﬁEtuﬂﬂaytﬂHﬁ 1650.075F9 - Zi.%g% 64'?.’7?%9[] ~ ??%;Eﬂl 64'0!1 gg _73
. B8 — - 58— vFSUh—
= =— 2 /2 IHE 512025/ }
W 6| (m] Trroz=— 00 EHRE AXSYFE2~
5 NS CEs it e, il 12880 1:05.8(4.0) 55 40.5
BR] TS5AT7 YR A L(USH) Gl s Geo 2=
SiEfi—  ARRSTLAN—

1 MEE/ER] [HF (FR) | REERE (-8 | [RE—RER] 2 [BRE [ME] (BE] [£ERS]



ERRRROBERERT —I N—RBISH—F

20257838 (K) Adfatg2H

@ WX
L—2® L—2@ L—23 L—2®
23%?5%23’?;‘%00 | s |
SR S{5vIFLa—
1:02.0
1| B YNRS— - - - -
2| SRXYwY 47& 11:03.7 | 54.0 - - -
3| XA4T01EVR 3% 11:02.9154.0 - - -
4| RAE=TTAR - - - -
5| vaFILy - - - -
6| S ATI=Z—Fzx = - - -
@ 5911
05512000 512000 ZDfth
1 BN S— 1:41.0 | B | 915000 | 202526565 | AAtE
2| S AXUwYH 1:03.7 | #42E | 5710000 | 202556558 | A3
3| XAT01EVR 1:02.9 | #4E8 | 10000 | 20255E6H58 | A8HE
4| RAE—TTAR 1:03.8 | B | 510000 | 2025¢F6H68 | fstE
5| vaFby 1:16.9 | B | 202545898 1:23.3 | $42 | 513000 | 202545682780 | s6F0
6| S RTI=—Fzx 1:05.8 | B2 | 510000 | 202555898 | fstE
@ 5% RE/REIALA
e i1 5B =it 16
L—28 BEIAL BREI(L L—2H BEIAL BEIAL
R 5 1:15.2 | 1:16.4 188 1:12.4 | 1:18.9
fHE 13 1:14.7 | 1:17.6 82 1:13.4 | 1:18.6
= 6 1:13.6 | 1:15.6 51 1:13.6 | 1:18.9
B 4 1:13.5 | 1:16.0 32 1:13.4 | 1:18.4




